01 S
17 2
2 AT B Y

oy
W)

%
&

1_ZAFY 2HAE @99} a0z B
2 AESE AT MR A%

|
3_QAFR Hskel 4H] EdE £
4 _AAAN I} AHESE EREs)

03 M2 AHT| MY 381} (1E2 45 S
1 4HA A @t 53

2_dis= % 9% B34

04 MBAI THEZ AR NS S 22y
1 Aex 289 BEA] sl Adn 59 AHA S Ak
2. 3% AU A% S ekt 4aHE 0

10

18
18
25
29
38

44
55

64
73

81

vii

U SR N 022 S HION.S o KON b1 10022 I HIof



viii

uw
o
_>'|_|

H

1-1]1 G7 =7} ZE AH[8(2004~20184)

1-2] == 19I%f GDP 3,000~10,000&2 77t 01 AH|S

1-3] &2 109 MEA| tiE= ZHuE 8 :2 F Al

1-4] AHIFE S
B

1-5] Aot

20

WO

H

b e &=

—_—_ o™

o
EFAA 71T AHIRH MY ERE

H

)

1-6] HSTECALS| 217) ‘& 22
2-1] AHIREQ} H7|=2 AH| HIE HZE

2-2] ASEL AHRRE HEEA(2002~2020H)

2-3] AR TH A7| ASEL AHEEE HEEA(2013~2020H)

2-4] ASH

WO

H

o HIZ7|E AH| HIS 3 @

H
g
2
=
[>

ol
>
o

OF AHIEIZY AMTIAH|(2002~2020L)

2-6] =g AMHIAY AHI2FH7IE AH| HIS 32 o

=]

N

a

ro

41 1
-1
S

H

2-7] NEE P AZ| QTTReL AHIREYE 4 (2013~2020H)

—_—

H
1

2-8] &= TR SEFMQt 471K Sy ©
3-1] MSA| Z=Q AH|X AfARH(2015H 7|Z)
I 3-2] M2A| 2 AHIX M7 348120199 71E)

H 3-3] MSAl MXITE AH M7 (20192 71F)

It

H

(B 3-4] NS AXH AHKY 2 7| AT 1E2 25 Z=Q Z=2
[E 3-5] A2 M 7I00) CHE=: AHIRY SEE(AS T9) 49 307 E(2018-20211)
[B 4-1] M2Al REIMY] 23
(H 4-2] N2Al 222 FERMY HED ST 32
(B 4-3] MBI B JHed 52 4885 H|RH(2013~20204 71F)

A

)
iy
B
>
=
o
1
MU
0
i
i
S

7t =2 AIB|ZGH HH2 HWH(2013~20204 7|F)



75
77
78

)

=
oy

(2020 7|

[

[E 4-5] MSAl
(2 4-6] AI7IE 1

ix

Kiortr <4 <ROBT MKART FlioToT Ko< KoM <1 <TKO R ®irss Rair



20

1-1] 52 243/ 4
1-2] Qo7 wiae} =2IH 72X ZRIE

1-3] 52 AHITX AN QT3 TCh 7RiE

>
o
g
U
3
i
|.|'|

2-1] &= AT 1918 AHIXE g A

2-2] 3= ZAFU 1919 Y5 AHIXE £0](1985~20201H)
2-3] 3= DAL 1919 52 AHIXE B7t F(1985~20201)
2-4] B= AR 1018 AFE AHKIE S71 F(2003~2020H)
2-5] B2 AR 1018 AFE AHKIE 57t £(2013~2020H)
2-6] 3= ZAIFL 1919 TIMEAS gt FA

2-7] &2 ZO0I71, TA|QI &&h1 S7t F4A
2-8] &= THUFRl RAERIH S HH&t

2-9] 5= SMELI} XM Bk A= =AM
2-10] 3= MR HOf 72 2 71K g
2-11] E2A 7|2t TS 0]

2-12] TR 0|8 o1 7=

=)
3-1] o= AHK 4228 HO{jAX|s 0]

3-2] &= AH[K S A9 37) 20 N F0
3-3] gt AHM 2 FO0|(4% 371 4Z H2)
3-4] KG9 o7 Mot HIW(2015H 7|F)

3-5] F2 X9 o7 £ HIE(20154 7IF)

3-6] X9 SIHE i HW(2016E 7IF)

3-71 FQ@ X

19 sFYE & HIE(20152 71%)
A

At HIW(2016E 7|F)

12
19
20
21
22
22
25
29
30
31
39
40
41
45
46
47
49
49
50
50
51



(O3 3-9] 2 X9 0| 82 +& HIE(20154 7|%)
(33 3-10] MS K 7| HhE= +E%0 5 215 0|
[O2 3-11] M2 AX 7Y == ‘2 e At
(3% 3-12] AS A% 7Y HE2 T ©e
(23 3-13] AKf 7| ER AT Q| AHK A= 259 0]
[ 4-1] MSH HEMY £71 93l

(23 4-2] M3A = ABAE TS it M2 Hux die

(13 4-3] 53 72 UXIOPIY S%E Qu 57

M I P 100X > B HIof

toon

JrA St A 02> B HIONMSZ >0





